
SAP ABAP table FERC_D3 {Totals per sender and natural account}

FERC_D3

MANDT [CLNT (3)]

RUN_ID [NUMC (4)]

S_OBJNR [CHAR (22)]

S_KTNRA [CHAR (10)]

S_BUKRS [CHAR (4)]

S_GSBER [CHAR (4)]

FERC_R0

MANDT [CLNT (3)]

RUN_ID [NUMC (4)]

 FERC_D3-RUN_ID = FERC_R0-RUN_ID 
0..N

{0,1}

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)] FERC_D3-S_OBJNR = ONR00-OBJNR 0..N

{0,1}

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 FERC_D3-S_KTNRA = SKA1-SAKNR 
0..N

{0,1}

T000

MANDT [CLNT (3)]

 FERC_D3-MANDT = T000-MANDT 

0..N

{0,1}

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 FERC_D3-S_BUKRS = T001-BUKRS 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 FERC_D3-S_GSBER = TGSB-GSBER 

0..N

{0,1}


